                         COMPANY: TCS

                         DATE: 04th march 2004   

                         MODE : OFF-CAMPUS WALK-IN 

                         VENUE: I.T.E.R,BHUBANESWAR

                         DURATION: 1HRS APTITUDE + ½ HRS PSYCHOMETRIC 

                         ONLINE TEST                          

                          VERBAL

                          Synonym & Antonyms

                          (Remember some of these were asked as syn & ant. So I 

                          am sending meaning of every word. Again these are 

                          actual meaning I don't remember the 4 option. )

                          1 Parlance= vocabulary, _expression used by people

                          2 Cajole= coax

                          3 liason= communication & cooperation

                          4 Obliterate= bolt out, destroy

                          5. Exasperate= annoy greatly

                          6. phygionomy=face

                          8.motley=multicoloured

                          9. Recapitulate= summarize, reiterate, compile, 

                          rehearse 

                          10. Impasse= pause, rest, standstill 

                          11. Nonchalant= without enthusiasm, indifferent

                                          X enthusiastic, warm 

                          12. furtive=

                          13. Dangle= hang loosely

                          14 pithy=

                          15. Daze= confusion, distraction

                          15. Sagacity= wise, acumen

                                        X dull, stupidity

                          16. urbane=

                          18. Repudiate= to reject, to disown, to refuse to 

                          acknowledge

                          19. Revocable= changeable, variable 

                                        X permanent, fixed, immovable

                          20. Commensurate= comparable, alike, equal

                          21. Rupture= breach, separate, crack

                          22. Translucent=

                       section-2,quantitative aptitude

                          Q). The size of a program is N. And the memory 

                          occupied by the program is given by M = square root of 

                          100N. If the size of the program is increased by 1% 

                          then how much memory now occupied?

                         Q).in which  system 1342 represents whose decimal value is 222.

                          ANS: 5



  Q.)find the quantity represented by

                                Energy*time/velocity*velocity

                          Q). Number of faces, vertices and edges of a cube 

                          ANS:6,8,12

                          Q). Complete the series 3,5,9,__,35,65 

                          ANS:17

                          Q). Find the result of the following __expression if, 

                          M denotes modulus operation, R denotes round-off, T 

                          denotes truncation:

                          M (373,5)+R (3.4)+T (7.7)+R (5.8) 

                          ANS: 19

                          Q). If CYRNFR is coded as PLEASE then TNVA can be 

                          Coded as ---------

                          ANS: GAIN

                          19. G (0)=-1, G (1)=1, G (N)=G (N-1) + G (N-2), G(4)= ?

                          ANS:-2

                          20. What is the max possible 8 digit prime number?

                          ANS: 251

                          21. A power unit is there by the bank of the river of 

                          900 meters width. A cable is made from power unit to 

                          Power a plant opposite to that of the river and 

                          2100mts away from the power unit. The cost of the

                          cable below water is Rs. 5/- per meter and cost of 

                          cable on the bank is Rs.2/- per meter. Find the length



  where the cable is to be cut.
 

                          ANS:1200m

                          22. The size of a program is N. And the memory 

                          occupied by the program is given by M = square root of 

                          100N. If the size of the program is increased by 1% 

                          then how much memory now occupied?

                          Ans: 10 % not sure

                          23. In Madras, temperature at noon varies according to 

                          -t^2/6 + 8t +12, where t is elapsed time. Find how 

                          much temperature more or less in 4pm to 9pm.

                          ANS

                          Q). The size of the bucket is N kb. The bucket fills 

                          at the rate of 0.0001 kb per millisecond. A programmer 

                          sends a program to receiver. There it waits for 10 

                          milliseconds. And response will be back to programmer 

                          in 20 milliseconds. How much time the program takes to 

                          get a response back to the programmer, after it

                          is sent?

                          ANS: 10.11N

                          Q) In a two-dimensional array, X (7,9), with each 

                          element occupying 4 bytes of memory, with the address 

                          of the first element X (1, 1) is 1200, find the 

                          address of X (5,8).

                          ANS:

                          Q). In the word CONSTITUTIONAL, if the first and 

                          second, third and forth, fifth and 

                          sixth words are interchanged up to the last letter, 

                          what would be the tenth letter from right?

                          ANS: OCSNITUTITNOLA

                          Q). What is the largest prime number that can be 

                          stored in an 8-bit memory?

                          ANS: 251

                        Q). Given the length of the 3 sides of a triangle. 

                          Find the one that is

                          impossible? (HINT: sum of smaller 2 sides is greater 

                          than the other one, which is larger)

                          Q). Find the singularity matrix from a given set of 

                          matrices?(Hint det(A)==0)

                          Q). Which of the following set of numbers has the 

                          highest Standard deviation?

                          7,0,7,0,7,0

                          -7,-7,-7,-7,-7,-7. 

                          7,0,7,0,7,0

                          -7,-7,-7,-7,-7,-7

                          1,1,1,1,1,1

                          1,1,0,-1,0,-1

                          Q)

                          A 1 0 0 1 0 0 0 1

                          B 0 1 1 0 1 0 1 0

                          C 1 0 0 1 0 1 1 0

                          (AuB)nC = ?

                        Q)find the orthogonal pair of line

                           Hint: m*1/m=-1,m=slope of line 

                       Q) what shape will be obtained using these values

                          X Y

                          0 0.001 

                          10 1.02

                          100 1.72

                          1000 3.00

                          9999 4.722.

       Q. A plane moves from 9?N60?E to 9?N60?W. If the plane starts at 2 am 

             and takes   10 hours to reach the  destination, find the local arrival time.

           The time is calculates on the basis of longitude.( Based  on sunrise)

           Sun rises earlier in Calcutta than in Mumbai. The 60 degrees east and 

           60 degress west are calculated form 0 degrees. The plane has

           travelled westwards     by 60+ 60 =120 Degrees. (WEST) For each 

           degree there is a difference of 4 Minutes. The difference in timings 

          is 480 Minutes    behind. As per the starting point time 10.00 AM

            the flight should have reached at 12.00 PM. Reducing 480 Minutes

            from it we get 4:00AM local time at the destination

      Q. WHICH EQUATION THAT BEST SUITS THIS CURVE


LINE CUTS X AT -1 WHEN Y=0 AND X=0 WHEN Y=3 AND GOES   UPWARD



Y


Y=X+3







X

 14. VENN DIAGROM below

1. HOW MANY PERSON KNOW ENGLISH MORE THAN FRENCH

2. HOW MUCH % OF PEOPLE KNOWS ALL THE 3 LANGUAGES

3. HOW MUCH % OF PEOPLE  THOSE WHO KNOWS FRENCH AND GERMAN AND NOT ENGLISH


FRENCH



     Q. CORRECT CHART WITH CORRECT VALUES
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X- YEAR



Y- NO OF PERSONS

1. AVERAGE NO. OF PERSONS FROM 1995 – 1999

2. WHICH YEAR HAS LARGE DIFFERENCES IN NO OF PERSONS

3. IF 10% OF PEOPLE LEAVES THE OFFICE IN 1998 THEN, HOW MANY FRESH CANDIDATES CAN BE ADDED IN THE NEXT YEAR

Q 
TIME

         DEGREE

2       7 ( 6’  43.15”

4 5( 31’  4.3”

THEN WHAT WILL BE THE DEGREE WHEN  TIME IS 3 O CLOCK

Q.THREE COMPANIES WORKING INDEPENDENTLY AND GET SAVINGS 10%, 

20%, 25%. IF THE COMPANIES WORK JUST OPPOSITE THEN WHAT WILL BE THE NET SAVING?

Q. WHICH ONE WILL BE THE EXACT POWER OF 3?


 (I) 2768
(ii) 2678
(III) 218718. 

 Q.  MATCH THE FOLLOWING



A



 

B


1. SENTENCE, PARAGRAPH
1. TYPE OF


2. BASMATI, WHEAT

2. A PART OF


3. BROTHER, SISTER

3. NOT A TYPE OF


4. BREIGAL, DOG


4. SIBLING

ANS: 1-> 2

2->1

3->4
4->3

Q. WHAT IS THE VALUE OF


% # % (5) - # % # (5)


WHERE   % - DOUBLING 
#- CHANGE OF SIGN

SECTION-3, CRITICAL REASONING

    (REFER TO BARRON GRE GUIDE.THEY ASKED JUST TWO REASONING

    QUESTION.THE QUESTIONS ARE AS FOLLOWS).

Q.READ THE FOLLOWING AND ANSWER THE QUES WHICH FOLLOWS

1. ALL G’S ARE H’S

2. ALL G’S ARE J’S OR K’S.

3. ALL J’S ARE K’S ARE G’S.

4. ALL L’S ARE K’S

5. ALL N’S ARE M’S

6. NO M’S ARE G’S.

1.WHICH OF THE FOLLOWING CAN BE LOGICALLY DEDUCED 

  FROM THE CONDITION STATED.

   a. NO M’S ARE H’S.

  ETC. ANS: E

2.WHICH OF THE FOLLOWING IS INCONSITENT WITH ONE OR

    MORE OF THE CONDITIONS.ANS: C

3.IF NO P’S ARE K’S, WHICH OF THE FOLLOWING MUST BE TRUE? ANS: E

Q.DELEGATION FROM ENGLAND AND FRENCH ARE MEETING TO DISCUSS

   MILITARY, TRADEAND DIPLOMATIC PROBLEMS.EACH DELEGATION

   CONSISTS OF A CHAIR PERSON, 2 MILITARY ATTACHE, AND 2 TRAD EXPRT

THE ENGLISH DELEGATION CONSISTS OF A, B, C, D, E; THE FRENCH DEL

CONSISTS OF F, G, H, I&J.EACH CHAIRPERSON IS TO OCCUPY THE MIDDLE

SEAT IN A ROW OF FIVE ON EACH OF 2 SIDES OF A RECTANGULAR TABLE.

   1] A INSISTS ON BEING SEATED AT THE OPPOSITE END

       OF THE TABLE FROM B.

   2] G, WHO IS DEAF IN HIS RIGHT EAR, MUST BE AT THE 

      RIGHT END OF THE TABLE.

   3] NEITHER D NOR F IS A CHAIRPERSON.

   4] THE ENGLISH MILITARY ATTACHE, ONE OF WHOM IS

      B, ARE SEATED TOGETHER, AND NEITHER IS OPPOSITE

       EITHER OF FRENCH MIL ATTACHE, NEITHER OF WHO IS G

  5]C, a TRADE EXPERT,IS SEATED OPPOSITE H.

NOW ANSWER THE FOLLOWING QUESTION

 Q.F MAY BE A

      a)TRADE EXPRT SEATED NEXT TO I

      b)MIL ATTA SEATED NEXT TO J

     c)…

     d)TRADE EXPRT SEATED NEXT TO .

      H 

Q…                   
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